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1 Introduction

In this contribution, we propose to trigger Event 1D independently on both carriers. 
Since all the other intra-frequency events are triggered independently on both carriers, it is consistent to allow 1D to be triggered independently on both carriers. Utilizing the mandatory search capability without the compressed mode, the UE has sufficient information to trigger Event 1D in time on either carrier. Furthermore, there are use cases for Event 1D on the secondary carrier, as discussed in the sequel. 
2 Use Case for Event 1D on both carriers

As presented in [1] and [2], in the example shown in Figure 1, the UE needs Event 1D on the secondary uplink carrier in order to change its serving cell in time to avoid uplink disruption. 
The UE is moving from Sector 1 (S1), which supports DC HSUPA, to Sector 2 (S2) which does not support DC HSUPA. The anchor carrier for the UE in the source sector (S1) is F1, which is only supported in S1. The UE could have a non-universal carrier as its anchor due to load balancing. 

If the UE can trigger Event 1D on F2, the secondary carrier, its serving cell can be changed to Sector 2 when Sector 2 on F2 is stronger than Sector 1 on F2. Such a serving cell change will also change the anchor carrier to F2. On the other hand, if the UE can not trigger Event 1D on F2, the serving cell change to Sector 2 will happen after F2 on Sector 2 becomes stronger than F1 on Sector 1. As seen in Figure 1, F1 decays very slowly due to the lack of interference. Therefore, without triggering Event 1D on F2, the UE will suffer from poor uplink performance due to large path loss to Sector 1 on the uplink of F1, and at the same time, the UE may cause excessive inter-cell interference on the uplink of F2 to Sector 2. Consequently, UE should trigger Event 1D independently on each carrier. 
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Figure 1 UE leaving a hotspot.

Alternatively, event 2A could be used to trigger this transition. However, in the real deployment, the cells may have irregular shapes. They may be larger on one side than on the other. This will require tuning of the per cell offset parameters for the event 2A, resulting in additional cost to the network planning and management.
3 Conclusion
Proposal: Event 1D is triggered independently on both carriers.
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